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sinθ =
O
H

  cosθ =
A
H

  tanθ =
O
A

  a2 + b2 = c2  

 

a2 = b2 + c2 − 2bc ⋅ cosA  
sinA
a

=
sinB
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=
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x =
−b ± b2 − 4ac
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Δd = d f − di   v = Δd
Δt

  a = Δv
Δt
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F∑ = ma   Fg = mg   Ff = µ ⋅FN  
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v2
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  Fc =

mv2
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v = 2πr
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1
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p = mv   FΔt = mΔv  
 

W = Fd ⋅ cosθ   W = ΔE  
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1
2
mv2   Eg = mgh   Es =

1
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kx2   Fs = kx  
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 Fg =
GMm
r2   

Eg = −
GMm
r

 



FE =
kQq
r2

  FE = qE   E = kQ
r2

  PEE =
kQq
r

 

 

V = kQ
r

  ΔV =
ΔPEE

q
   E =

ΔV
d

 

 
 

W = qΔV    ΔV = E ⋅d    

� 

q = N ⋅e  
 

F = BIL ⋅ sinθ   F = qvB ⋅ sinθ   
 
 
 

I = Q
t

  V = IR  R = ρ L
A

 Rs = R1 + R2 + ...+ Rn  
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1
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+
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  P =
E
t

   P = IV =
V 2

R
= I 2R  

 
 
 
 

	EMF = vBL            Φ = BAcosφ   EMF = −N ΔΦ
Δt    

I p
Is

=
Vs
Vp

=
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